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Part A: Vocabulary and Grammar

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.

Then mark your choice on your answer sheet.

1- Your little brother --------- to college or thinking of marriage by the time you come back.
1) will go 2) is going 3) will have gone 4) wall be going
2- The deficit --------- so large, we will probably have to pay additional taxes.
1) grows 2) 1s growing 3) had grown 4) was growing
3- 1tried to persuade him to join me, but n the end I ==~
1) had on 2) give up 3) gave up 4) have back
4- The girl takes ==-===-- her mother rather than her father.
1) to 2) up 3) before 4) after
5- To get some money from the insurance company, he had had his store ---——- up last year.
1) blew 2) blow 3) blown 4) blowing
6- The telephone lines were -------— when the truck hit the pole.
1) damaged 2) wounded 3) harmed 4) injured
7- Doing a thing over and over again makes it @ ====----,
1) habit 2) hobby 3) practice 4) performance
8- Make sure you ------- that present carefully or it may get damaged in the post.
1) flourish 2) consume 3) wrap 4) dispatch
9- If you want antibiotics, you’ll have to ask the doctor for a ------- :
1) receipt 2) recipe 3) medicine 4) prescription
10- As you’ve arrived late, you’ll have to ------- the time you have lost.
1) make off with 2) make up for 3) make out 4) make for
Part B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4 ) best fits each
blank, Then mark your choice on your answer sheet.
Dear Mr de Oliveira,
Thank you very much for coming to see us in London the day before yesterday. We were very
(—-11-—) with your interview and would like to offer you the position of Marketing Manager (Antibiotics) for
South America. We would like you to start in three months’ time.
Afier a one-year (—-—12-—-), we expect to see our market share grow. We are sure you can help us to ( 13-----) this.
The starting salary will be $85.000 p.a. plus car and full medical insurance. In the second year, this will rise
to $90,000. You will also receive regular profit shares based on sales ( 14——) for your area.
If you would like to accept this offer, please contact me at the above address and we will draw up a contract.
I look forward (—-15-——) from you.
Yours sincerely.
11- 1) impressed 2) surprised 3) interested 4) appreciated
12- 1) date 2) occasion 3) slance 4) period
13- 1) assume 2) succeed 3) achieve 4) perform
14- 1) figure 2) statistics 3) account 4) number
15- 1) hear 2) to hearing 3) to hear 4) hearing
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Vocabulary

Directions: In this section, choose the item which is best related to the illustrations
provided in questions 16-20.

1) Double-headed nail 2) Lag screw
3) Roofing nail 4) Screw eye

16-

oA foby
17- Lh*’: jf H

1) Skylight 2) Cross ventilation
3) Mechanical ventilation 4) Chimney effect
18-
1) Pergola 2) Arbor 3) Trellis 4) Wire mesh
19-
1) Courtyard 2) Rotunda 3) Portico 4) Pendentive
4 e A
- .
N
1) Revolving door 2) Pocket door
3) Bifold door 4) Pivoted door
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Reading Comprehension

Directions: In this section you will read two passages. Each one is followed by five

questions about the given text. For questions 21-30, you are to choose the best answer
to each question, marked (1), (2), (3), and (4).

Passage 1

Involving the people who live and work in an area to be planned or designed requires
no less than a comprehensive communication process by planners and designers. The
public is in reality the people who are directly impacted by planning and design decisions
traditionally made by experts; it is the group of people who are asked to support,
financially or politically, a change in the physical form of an area. The public is
substantive or real users of human settlements and the underlying or displaced eco-
systems. Public involvement, rather than being avoided as many designers are inclined to

do, can provide the required ingredient to spatially test ideas, options, and policies,
enhancing the quality of design.

According to the first sentence:

1) The people involvement in planning and design requires more than a communication process.
2) The people involvement in planning and design requires less than a communication process.
3) Involving the people to live and work in an area, requires more than a comprehensive
communication process by planners and designers.

4) Involving the people to live and work in an area, requires less than a comprehensive communication
process by planners and designers.=

The public is the people who are:

1) traditionally experts.

2) directly influenced by planning decisions.

3) asked to change the physical form of an area.

4) supporting the financial or political impacts in an area.

The term "displaced eco-systems' actually refers to:

1) underlying. 2) the settlements. 3) substantive. 4) the public.
Most designers are inclined to:

1) enhancing the quality of design.

2) provide the required ingredient to spatially test ideas.

3) avoid public involvement.

4) enforce public involvement.

25- What would be the most appropriate topic for the above passage?

26-

1) How Do Public Decide? 2) Designing for the People.
3) The Public Involvement in Design. 4) Who Are the Public?
Passage 2

Simply speaking, shade is the value of surfaces directly or indirectly influenced by
light, while shadow is the value or image on a surface created by blocking out light. Both
are very important and require consideration and thought to be effective in presenting
design information. Actual calculations of sun angle, azimuth, and altitude are useful in
creating very precise drawings of shade and shadow. However, a fundamental
understanding of shade and shadow will be most beneficial and will allow you to present
ideas more quickly and skillfully.

Values on different surfaces are relative to the amount of light that 1s absorbed by the
surface. Those surfaces further from the direct source will usually have the darker value.
The shadow will also relate to the light source and be directly opposite.

Based on the definitions made in the first sentence, shadow 1s:
1) an image. 2) a surface. 3) a direct light. 4) an indirect light.
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27- Based on the passage, what is the use of shade and shadow in architectural presentations?
1) They are used to identify the location of the sun.
2) They develop powerful presentations.
3) They provide quick presentations.
4) They provide design information.
28- Values of shadows are based on:
1) direct and indirect light.
2) the surface and the amount of light.
3) the surface, the amount of light and the distance.
4) the calculation of sun angles, azimuth, and altitude.
29  Based on the information provided in the passage, shade and shadow:
1) are created through direct light only.
2) are important in presenting design ideas.
3) are relative to one another.
4) are beneficial in presenting skillful drawings.
30- According to the passage:
1) Shadow is the value of surfaces directly or indirectly influenced by light.
2) Shadow is the value or image on a surface created by blocking out light.
3) The shade will also relate to the light source and be directly opposite.

4) Shade and shadow are effective in developing design solutions. ;jLﬁ:-""L"J ™ )0
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